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H B2l °C °C °C °C

1 H 166 163 1,659 1,708
2 A 165 163 1,675 1,709
3 X 166 163 1,620 1,707
4 K koo ek *okok kekok
5 S skokok *kokk skokok *okok
6 ol Hokok fokok Hokok Fokok
7 T *okok kK *okk kK
8 =] kokok *kekok kekok kekok
9 J=| *okok kK *okok *okok
10 X Hokok Hokok Hokok Hokk
11 K *okok *okok *okok *okok
12 x $okok Fokk $okk $okk
13 el kekok *kokk skokok *kokok
14 t 109 83 *okok *ekok
15 H 166 151 1,379 1,552
16 A 165 162 1,645 1,682
17 U 167 163 1,589 1,674
18 K 167 164 1,490 1,583
19 N 168 163 1,481 1,591
20 & 166 163 1,555 1,621
21 T 167 163 1,556 1,639
22 H 166 163 1,603 1,653
23 A 167 164 1,620 1,668
24 X 166 163 1,614 1,669
25 7K 166 163 1,601 1,663
26 VN 166 163 1,638 1,672
27 & 166 163 1,638 1,698
28 t 166 163 1,674 1,711
29 H 167 163 1,559 1,638
30 A 166 163 1,584 1,649
31 X 167 163 1,560 1,630

AT - 159 - 1,656
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